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= 21,700
== 2,700
Al 6,600
307 212t01™ 31,000 80,000 249,000
= 21,700
S 2,700
Al 6,600
02 QIHHAANGE R 31,000 80,000 249,000
[ APBIEATOI AN XIS A
31,000,000 *14| 31,000
= 21,700
S 2,700
Al 6,600
A ZEDIHS SRIBEAM(EX) 408,000 506,300 /98,300
s 306,000
s 30,600
Al 71,400
307 @I2t01 & 408,000 506,300 98,300
[ 306,000
= 30,600
Al 71,400
02 QA AAIEE X 408,000 506,300 98,300
O (GWHDAEIZDIY dXeIEE ALY
408,000,000 *14] 408,000
[ 306,000
= 30,600
Al 71,400
AZIEDIS MBS SXRAIS (EX) 28,000 12,050 15,950
[ 21,000
= 2,100
Al 4,900
307 gl2to| & 28,000 12,050 15,950
[ 21,000
= 2,100
Al 4,900
02 QI HAANEE X 28,000 12,050 15,950
O AlRIEIIE AtRI28E XA
28,000,000 * 14 28,000
Fas 21,000
== 2,100
Al 4,900




M LXtelZ Mzt

M ZAEE & NABNEHS
SRl AR EHBHDIE €2 |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AEIEIIY XIASSIAIL (2 X) 30,000 30,000 0
= 21,000
== 2,700
Al 6,300
307 212+01& 30,000 30,000 0
= 21,000
=S 2,700
Al 6,300
02 QB HANEER 30,000 30,000 0
O AFSIRDIY XA S5 AlY
30,000,000 *14! 30,000
= 21,000
S 2,700
Al 6,300
SSEAMNIFHBNEELTLIAIS (EX) 86,000 154,800 68,800
= 40,000
= 13,800
Al 32,200
301 EtE NS 14,000 25,200 211,200
== 4,200
Al 9,800
01 Al 2E AT S(SREXME) 14,000 25,200 211,200
0 228 MENZR HEAT el M)
14,000,000 * 14| 14,000
= 4,200
Al 9,800
307 el2to| & 72,000 129,600 Ab57,600
= 40,000
& 9,600
Al 22,400
02 2B YA E X 72,000 129,600 ~b7,600
[ =8 MEIIH HUAT2lA
72,000,000& * 14 72,000
= 40,000
< 9,600
Al 22,400
O X 2el 2 oHg 1,675,694 1,525,985 149,709
= 155,000
Jl 70,000
[ 257,110
Al 1,193,584
S2H0|1] erdst iUl 22 683,310 92,148 591,162
= 95,000
s 43,920




M LXtelZ Mzt
2 UK 22l € Oone

Cel: SEX0|10 HAE WX 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 544,390
XIS 228 sl 36,910 41,308 24,398
201 fet=23y| 20,950 20,950 0
01 AtR2tc|HI 20,950 20,950 0
0 &Bt+=Sd| 13,050
O |FRANE WH =42
15,000 +8574 A +23] 2,550
O iUXNES S22 M =
1,000&*1,0002 1,000
O erdze|(OtA, &I, 47 S) 822 |
= 1,000& +1,000% 1,000
O HZEA AE 7Y U AA42E
10,0002 10004 B =+22 2,000
O 2E Y N2R V442
100,000& * 1504 S = 1,500
O fxeE 228 g2= MR
1,000& +1,000% 1,000
O APFXI ZADEA BH2HEX] 22t S22
Hl 2,000,000& *2IH Ab*13] 4,000
O IS uSH| 3,400
O 2E32 A WSHIOKA, HEII)
300,000 x1H =23 600
O HiUXIZef n=tl 700,000 ~4H 2,800
0 =gl 3,520
O HUNZH gezz
8,000 x4 »110! 3,520
O =2g8+< 980
O STADIA B2ETIAE 25
70,0002 7 H =23 980
202 04l 5,960 5,960
01 2LHoIH 5,960 5,960
O HED SA E JA"EE SR8 WF0il
80,0003 x2Z 22«33 960
0 =8 A% HiigL s S50
50,0002 x4 H 7 1,400
O JtAsiigas nedd
80,0002 x3& x2 2 ~42] 1,920
O ATHAOH A 2t P2 HAZ0HI
60,0002 x3E *x2& x32| 1,080
O o X&Zer 23 250
50,0002 *3E*x2 2 *23] 600
206 M=l 10,000 10,000
01 MHZH| 10,000 10,000
O &) 228 Mz ()| S
) 100, 00021 ¥1007}++ 10,000
2B QUNAANS AL AL 40,000 0 40,000
= 12,000




N DN T b= DAy

DOIUX 22l ¥ OOHe

D E8N0|D erAE MWK 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 28,000
403 MR HMSAHE01H 40,000 0 40,000
=S 12,000
Al 28,000
02 SO 2SOt st = & 2 €A ] 40,000 0 40,000
O A&Z0 JIAAMSAIE HEAY
40,000,000& *14] 40,000
< 12,000
Al 28,000
NEUSIHIAMIIEI|(EOIHE) ESAIHE(EX) 11,400 34,840 123,440
= 3,420
Al 7,980
403 MR HMSAHE01H 11,400 34,840 N\23,440
=S 3,420
Al 7,980
02 SIS StA2 A AAE A I 11,400 34,840 N23,440
O MRISIHAHE XIS (EHOIH2) ESAY
11,400,000 * 14| 11,400
< 3,420
Al 7,980
S20| ADUE ESE-(ER) 10,000 0 10,000
= 5,000
[ 1,500
Al 3,500
201 el 10,000 0 10,000
= 5,000
== 1,500
Al 3,500
03 HAH2EHI 10,000 0 10,000
O s ALiE ==
10,000,000 * 14| 10,000
= 5,000
=S 1,500
Al 3,500
CADIAESE Exs XE 405,000 0 405,000
402 BIZtAH=01 A 405,000 405,000
01 QI X2 AL E A (KHMITHE) 405,000 405,000
O ZADIA SSAIE ZXId] X3
405,000,000 x 14 405,000
LPGEI] AHEIHR AIEIHE AL (B X) 180,000 16,000 164,000
= 90,000
= 27,000
Al 63,000
403 X SHHMSAH=01H 180,000 16,000 164,000




2A:

E M

DAL=
OIUX 22l & o

Cel: SEX0|10 HAE WX 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 90,000
=S 27,000
Al 63,000
02 S7I2S0 U H=E 2 EAIEI 180,000 16,000 164,000
[ LPGEI1 AFSJH A& ALY
180,000,000 * 14! 180,000
= 90,000
S 27,000
Al 63,000
AITHA Ol Xl JHE 992,384 1,433,837 A441,453
= 60,000
) 70,000
== 213,190
Al 649,194
ATHMOILX ASXIRAIS (EX) 359,900 91,466 268,434
= 107,680
Al 252,220
402 2IZtA=01d 369,900 91,466 268,434
= 107,680
Al 252,220
02 QI XHE AL E R (01X THE) 369,900 91,466 268,434
O ATHEUHA AS X2 A
359,900,000 *14] 369,900
< 107,680
Al 252,220
ATHMOI X FEXRAS (EX) 294,460 80,606 213,854
= 88,200
Al 206,260
402 212t X201 & 294,460 80,606 213,8%4
= 88,200
Al 206,260
02 RIENZASEZ (01 THR) 294,460 80,606 213,854
O ATHAOIH X Z=E4XIR ALY
294,460,000 x14] 294,460
== 88,200
Al 206,260
SSAE ATHAUUR Al 30,324 50,450 N20,126
401 Al HIZL 201 30,324 50,450 N20,126
01 Al&H| 30,000 50,000 A20,000
U HAsZE LIBDXAE |XI2=H|
30,000,000& x14] 30,000
03 AIESTHYI 324 450 A126
[ S CHyl 30,000,000 +1.08/100 324
FHAHE XSRS (EX) 100,000 100,000 0




2A:
PSR
cto

2 Atel Z Xl ot
ORI 22| & oHY

DOAITHA O OHE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 70,000
Al 30,000
401 AlEHIZL S0 100,000 100,000 0
Jl 70,000
Al 30,000
01 Al&H| 100,000 100,000 0
oS DX A
100,000,000 *14] 100,000
Jl 70,000
Al 30,000
SXAIE HHXIE AL (EX) 43,700 146,000 /102,300
< 13,110
Al 30,590
402 QI2F X201 & 43,700 146,000 A102,300
= 13,110
Al 30,590
02 PIIH2 AN 2 X (01T 43,700 146,000 A 102,300
O SXAIE HILIE A
43,700,000 *14] 43,700
= 13,110
Al 30,590
AITHAUHUX S2UEHZAIAR SXILEHI(EX) 14,000 0 14,000
[ 4,200
Al 9,800
402 QI+ X201 & 14,000 0 14,000
= 4,200
Al 9,800
02 QIR A B (0IH T ) 14,000 0 14,000
[ TR0 A XI SLIEI A A B S X L F |
14,000,000 * 14} 14,000
= 4,200
Al 9,800
NS0 X A 150,000 0 150,000
= 60,000
Al 90,000
401 AlEHIZL SO 150,000 0 150,000
= 60,000
Al 90,000
01 Al&H| 150,000 0 150,000
[ XIS4T & oAt
150,000,000 *14] 150,000
= 60,000
Al 90,000
A2 IHI(LXeIZ D) 197,780 180,8%4 16,886




A LRI Z L
A AZYRAIH(LT2IZ D)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
el 2| 171,940 185,054 16,886
Q2 (LRt B M) 171,940 185,054 16,886
101 @124H| 167,716 161,492 16,224
01 2= 118,282 109,116 9,166
O =228 118,282
O AlteI2Rs
12,3212 x 162 +50A| 2+ 123 118,282
03 SR (RIH )22 U2+ 49,434 42,376 7,058
0 SRA22T FRY 49,434
O Jlzs 2,061,4703 ~1H+ 122 24,738
O ZHZAHI 130,000&x 1+ 122 1,560
O AHR2xH| 30,0002+ 122 360
O JIZgats 2,221,470 %42 8,886
O BHN0IB 1,302, 88021231 2,666
O 224y
15, 9403 x 1 *20A[ 2+ 123 3,826
O g4y
127,540« 1H 42« 122 6,122
O ext+=g 85,0303 18 x15& 1,276
04 HSRESS 4,224 3,562 662
EEIES P EEEIIEEEETERE 4,224 0 4,224
O Z2N22% 283 S 293 4,224
O 222N AYPE 22
49,432, 2502 %3.6/100 1,780
O ZRND2N K298 2y
49,432, 250%1%4.5/100 2,225
O ZLHIRT HIIRYDH 293
1,779,560& +12.27/100 219
Jl=23H 25,840 25,840 0
Jl2Zul (X2l 2 M) 25,840 25,840 0
201 er2 3| 10,500 10,500 0
01 AtR2t2|HI 10,500 10,500 0
0 &Bt+~=EH| 10,500
O =AEXN 7
30,0003 #5082} A*32] 4,500
O 42 P=2 2 DA 2
2,000,000 %14 2,000
O & MRII| A2 (S0, EH
S) 4,000,000 * 14 4,000
202 04| 3,040 3,040
01 =LHOLI 3,040 3,040
O XS ZH gdstig 2=
20,0003 x2& 20 800
O ZHgdst gead & /35 4
80,0003 <2 »7 L x23| 2,240




A LRI Z L
M #ZYRAZH(LT2IZ M)
&elr D=3l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 6,900 6,900
01 J|2=2gegR=a] 3,300 3,300
O ZH2aZ=& 3,300,000 14| 3,300
MU A2 LRSI 3,600 3,600 0
O X2l 3 A 300,000 * 12 3,600
204 MR AH| 5,400 5,400
01 MM SHR+HAY| 5,400 5,400
O 3nad=& 350,000 * 122 4,200
O LXte| S Mot 100,000& «12& 1,200
HREs(LXtelZH ) 2,000,000 2,000,000 0
AN 2,000,000 2,000,000 0
LHEHRH RIS (L RtIZ M) 2,000,000 2,000,000 0
(VPI=TSEy= 2,000,000 2,000,000 0
0 JI=sdEs 2,000,000 2,000,000 0
O Z&Al &€l &=
2,000,000,000& *14] 2,000,000




